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Question 1 to!8 A PAPER - 1 (GENERAL PAPER)

The following table sho iy
the years 20’1% and 20.;.\":?':3\\3 Percentago (%) diteibution of the number of readers o an;‘ puwer ¢
questions that follow:. g the six different eltios A<, Based on the data In the 8 3 "

ﬁq . = ' | ‘\

faammzaﬁ m:gfm PR Ay 2019 w 2029 # 1y s o 75 ] W m”fm %)
™ |Wﬂ“ﬂiﬂﬁiaﬁ(§r§ﬂaﬂ1ﬁmm%mmi {

City-Wige Details of Number of IT Magazine Readers/ |

STTERY uftvey & i’fﬂdummm-mﬁm

City/ entage of Readers in Year/ :

(2019) (2023)

A 10% 15%

B 14% 16%

< 17% 28%

D 9% 10%

E 2% 9%

F [¢72 22%
()

1.  If the number of readers from City-lczgn the year 2019 and that from City-E in the year 2023 were
73,100 and 51,300, respectively, theh .the number of readers from City-B in the year 2023 was

approximately % more than that in 2019,

afe a4 2019 7 32 C § i ad 2023 # e E W Sl i H&A wH: 73,100 4 51,300 9, @ e B A
2019 H 9iedi 1 HeA | 9y 2023 H wew! @ HEen anvn % aifbe o

(1) 53.7 (2) 503 (3) 52.8 @4) 515

. If the number of readers from the City-D in the year 2019 and 2023 were 77,400 and 1,14,000
- respectively, then what is the difference between the number of readers from City-F in the year
- 2019 and that in 2023 ? -

. AR EH 2019 7 2023 H TR D H TSI AT T FAW: 77,400 A 1,14,000 fl, W W F H wraw #) =
2023 =1 FeA iR A 2019 = wen & e @t e &2

(1) 24,800 @) 27,2000 (3) 28,400 (4) 33,600
R e -‘
Fa If the total number of readers from/all the six cities A-F together in the year 2023 was 50,000, then
. ;. the number of readers was more than7,400 in exactly _ cities in the same year.

AR T B Rl A-F i et 2023 # W w1 e wwn 50,000 of, o d-den fome i
H gigel &I e 7,400 § st of ?
(2) 3 (3) 4 (4) b

2 ' 087

EEES .

(% CamScanner


https://v3.camscanner.com/user/download

Match List - I with List - IL

List-I % O
(Types of toxjgants) o0
A. Nephrotoxic @)
B. Hematotoxic N ]
C. Pulmonotoxic Lf) i
D. Hepatotoxic LD 1A%
Feli-1 % T4 Geli-11 51 e Fifeg)
-1
( fEnTaT T YT )
A. AwrEiEEE L
B. BHREREH
C. WIS |
D. BURRfES 0O v. ™
Choose the correct answer from tions given below :
3 few 0 ] A 8 e A A A
(1) A, BV, G, D-III (2) AL BV, C-IIL D1

L ,
C 111, D-IV (4) A, B-L C.‘vN‘ -1
(3) AL B, CIII o0 ¥

What is the base-10 equivalent of the base-4 number 30

HIUR-4 Hey 3013 & AHGE SATER- 1oma‘hmt2
(1) 182 (2) 196 (3) 199
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8. ‘Mind to mind’ communication involves the co

A. Physical settings B, Shared beliefs
D. Notse manipulation E,  Context

Choose the cortect answer from the options given below:

licay, on of meanings through: o

(1) A, BandD only 2) B.L and 1 'm only
@) ABC and B only (4) and F onle
e & W SR it 4 f 3y ey e 5 y
A, it e B. len'if[\] ™
D. W& - B e '
ﬁﬁﬁmﬁmﬁﬁwaﬂtmwaﬁmm |
(1) ¥ A BD @ %= camp
(@ SWABCHRE (4) ®FC, D SRE
9. Identify the correct order of the following list of ‘computer components ranked from slowest to
fastest in terms of access time.

A. CPU cache b B. RAM EISST) Optical Drive
ST T % T H W o Y g g ¥ = Gt FeIe v A frefafaa ao % Wi wH
=1 fofea =it % &

A @DRIF B W aa

Choose the correct answer from the options

ﬁ%ﬁqwﬁﬂﬁﬁnﬂwmmaﬁm :
(1) D,CB A 2 ABCD @ B, A, D,C 4) C D, A, B
10. Match List - T with List - 11, O
List - I List - II
(Words) (Codes with same rule)
A. FIND I.  RGKC
B. CLOG II. DGLB
C. SHOW L AJME
- D. TIME IV."QFMU" |
w”la;mq Eﬁ-llmﬁﬂﬁﬂﬁm E‘r_:*'!"]
-1 get-n W
: (¥reg) (T form ug,aa EIED)
- A, FIND . RrRekc N
B. CLOG I, DGLB L)

SHOW m. AIME  LO)
IN V. QFMU ()
correct answer from the options glven below :

2) A-II, B-I1I, C-1V, D-I
(4) A-IV, BI, C-II, D-III

(% CamScanner
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13,

14.

aarTe L) @ = rerfea Tt
3 FW w (4) Taem FHro
v a group to achieve its goals, it is kno

When o

(1) Die , (2) Promotive role
S » (4) Devotional role

1y fewzmt : '

(@) wadw gferr
W T fm

Choose the correct statemen
A. 2% of y is equal to y% 0100 x.

3} A : 2) i
B. II 40% 0{ fﬂ% Of (-5-] DEL | U4 -:'_.‘_A"?! % Of ( .f‘ tha
C. I Ais 15% more than B/then B8 =13.04% less than A. j

D. 10% of 5 and 5% of 10 add-up to
Choose the correct answer fron the op!
(1) AandBonly (2) Band C

Cand Donly (4) AandDenly
ah w7 A ' |
Ay @ 2% 1002 & y% % Tl

C. M p B 15% A § W B, A § ~13.04% 5
D. 5% 10% 39 10 % 5% 01 %l :

ﬁffmmfawﬂﬁﬁnﬁzﬂiﬂmm= , ‘.
(1) wam p B (2) mBWC (3) ¥aEC D () ¥ A s D

Which of the following digitai ﬁ\litiatives provides do'- profiles of il
and other faculty members \Mfﬂlng at leading mdemlc _" tions and R & D o

(1) SWAYAM ?rﬂbhi? (2) E-Vidwan 3
(3) National m-demx

i T‘| L | l
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Pt voles 18 for 188

put a Pl ' f ‘

elect optio; 'Om a meni e Miero

is) operate a :"Jl Nt simulator _ 1w, Nu '_.-i'
U1 %1 Telt-11 7 fige ifom

L1 RC 71| L S
~

B N

SR 45 feqm Afeg

f"'iilu | ¥f‘;':‘J ’ 8 I 1

T || q
W O (18 L)

o Tl e ST =0 11 (17

U SR E R R T I [ I, iz

L, SR
TR ST &S

i 1 HHANET Ho & foar

ANIMent awmotiray. e B o dd i ol mr
eck answer fr Ne options given below ;
R NN IS

5 WS ST ] T i,

D @2) | J AV, Gl D,

; ) Lttt ) LS :,_"f)-r?‘
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18.

19.

20.

21.

A motor boat covers certain ‘
starting point. If the speed of
still water ?

(1) 40 km/h

@

Which of the following statements A-D about compute

A. 25 KB is larger than 100 MB. e
B<~ 999 MB is larger than 50 GB.
C. 3500 KB is smaller than 2 GB. ol .
Smaller than 2 KB. Rl |

b e it

D. 2350 bytes is . oy
Choose the correct answer from the options given below : , AR
(1) Aonly (2) Conly (3 BandDonly (4 BandConly
HepeR T RS aﬁﬁA-D#ﬁmﬁ@ameﬁrﬁﬁaﬁqm/ﬁ 551 8/2 7

A 25KB 10MBRF@R@R . 4 O

B. 999 MB, 50" _B@la's;ram%l | 0

C. 3500KB, 2 GB ¥ B2l 2T § | A g o

D. 2350 @EZ, 2 KB ¥ B el ¢ LO o

9 feu e faeed # 9 HE S F1 =

(I)Z?IA (2) <aad C 3) é’ﬁa%ﬂm 4) FI@ B SARC

' ch
Which of the following approache Al el

through experience and the senses

s to ﬁe study of reahty tests that only Enovvledge e i
. (2)ethnography

T.:-
ﬂ

(1) constructionism () operationalism ]
3 mpiricism
;;aiigﬁwmﬂﬁﬁﬁmwmmgmmmm b
e & - (0 ®) |
a5 fjf:ﬁam (g (@) 2

(3)) . (4) HfHETETE A\ i

do stmam is 1 km/h!
o i B kAR Ehe SReeEH |
Speed of a boat 1 stfﬂézlw;;e; ::‘d omes back to the star md4the total time
place at a distanc® © (2) 10 hr (3 12 o 4) 15 h:
(1) 8hr - gamwmaﬁﬂﬁHM/ ¥
36 B0 forg g

(% CamScanner
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22. m“d,ofﬂ\efoﬂowmgmmmalmqmﬂﬂ!
A Cmbonmde(cg) ' :
C. Carbon dicxide (CO)
E. Sunlight Iw'. ¥

: : ,J—-_‘,—tr,.(-' rj
A e

@ mm

ﬁﬁqmﬁaﬁﬁﬁmaqﬁﬁtawﬁhq .
(1) F5@ A, B 3D 2 Z3aACIRE
(3) %9@B,C,D FRE (4 FTE@BDIARE

23. Knowmgﬂ:atyoufmdalgebmmmed{altﬁ:anyomsmdoeslmt at vou
with practice, is an example of - oo

(1) SelfRegulation (2) Metacognifigny (3) Self-discipline @ A
ﬁm%m,m?aﬁmwﬁ@ma"a—aﬁmw%ﬁﬁ
T €, 7 Frefataa § 4 fhew wemig )

(1) ST () aEse !56 ¢) o=

24. Which of the following are the subdivisions of Implicit (Unconscious) memony 2
A. Priming B.  Episodic Memory,
C.  Classical conditioning effects’ = D. Semantic Memory
E: Procedural Memory '
Chooselhemostapp:opnateanswerfmmﬂleophonsgwmbelgw
(1) Band D only @ A, B, D and E only

() A, CandE only @ ABCDandE

ﬁquaanaeﬁmﬁfaa(m)wﬁ@ﬂmmw%?

A.  wEfn J .

' L§ ) wﬂm(mﬁmwﬁr

R’y T

CO

'mmfamﬁmmmmwﬁm;

el (2) %= A, B, D 3RE

(4) A,B,C, D3RE
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26.

(1) A, Cand Donly (2)! il

(3) B Cand E only () R

Wmﬁﬁﬂﬂ”ﬁﬂﬂﬁm-mwt? 5 Vo bl
/A, ﬁaquﬂ-nuﬂ'g@renﬂmfmﬂmwmmfb r;, :

(Concept) £
A Tree commerce and COmmuaion

o Yangusge sveond DR i
g ek b o LLE Hication
b, Lines of communicatiel

-t e ot

D (A
 glven below
tr‘uv _
(1) AL Be1ll, CAV, DIl AL, B, IV, DAL
@)  A-lll, BV, GsL, D-lI /,i,?\',jTV B"r@,w@’ "
., ‘:XD e

, " 9
They produce more flssile mater 1 thi ConALLTg,

i {1

Al 1

B, There are no breeder reactors indneia, = = = iﬂ N

C.  There are two types (Fast and Slow) e ‘broeder reRelers. : i

D. Fot breeding operation the convergion ratlo (Masle material produced/fissile material
n#-'—' ey 'fl

consumed) should be more:than one: ( h

E.  Breeder reactors produce morqmﬂélﬂm%gm”
: G}

e rvniat
Choose the correét answeor fron the optiona g1ven b g’ : A |
jand |

it of wpyg WO 1'm,ﬂ“tﬂ'ﬂffﬁl w | an
i : tl mllll T
C. Wt fraeed & T (ﬂ”"m”m P ‘ .
D, g et g fteet s (foEE ) mm,m}:m mﬂ"'ﬂ ) o it

?‘”fg T Kl e I
., mtq:%;s ettt e Wﬂ n oon TIOSR Sa
c-"a ’ L ﬁwmm ' ) :"‘;': b 'ui
mmwﬁ (2) ‘,_‘|I.’-:l""

(1) amﬁ A, Cm \ A Dol I
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27, The media ammntaungy system to improve media :

A, Evaluation Audience control
E.  Feadback

Choase the correct answer from the options given below
(1) A BandConly 4 2) giB,C:md D o

Q) B.Dmdﬁdl% 4) A, C Dand Boply
e o ¥ §URRY, e st oomen e @ R
A EEIEA B st o) C. o

E whyke :

R fey e s

1) ¥EABIRC @) %= B, C iR D
(3 ¥sBDRE @) @A, C, D RE

v the correct ence of the fo research organisations 4
entity the corect sequ lyeig research organisatic
A. Indian Council of Social Science Research (ICSSR)
B.  National Council for Rural Institutes (NCRI)

C.  Indian Council for Philosophical Research (ICPR)
D. Indian Council for Historical Research (ICHR)

E. Indian Institute of Advanced Studies (ITAS)
s STEYM STe 3 S T o % SR 6 o -
A, S SIS R SEEaE iR ‘
B. TEE uniiv §eH UReg (TH T R
C. SRWE ¥ STHyT IReg (3 W 9am) i 5
D. SR el SIEun qieg (o e $in)

E. WA S=3 3T97F HegH (37 37 U UuH)

Choose the correct answer from the options/given below :

= feu T fasedi § @ wé I w1 9T i .

() ADEBC (2/BEGCDAY) @) EADCHE @ F:.A.E,D

When you try to predict the value of an outcome variable from one or

variables, you are
likely to be using ; _ ‘
A. the Pearson product-moment correlation ! !n‘
B.  bivariate regression _ :
C. multivariate regression B

D. analysis of variance |
Choose the correct answer from the options given below : )
(1) A, BandC only (2). B and C only
(3) B,Cand D only (#) ) A and D only

- \
ST S T A G T A A GO 1 ST 0 O 0 6 w60 E

(N

(% CamScanner
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30.

31

33.

34,

A Etgggj\&hg:;agl)(:;e | .
ee of progra

mmmmm |

Fifraftn) wa HH F

M 53 (2)-
the foll v

A ielder )

C. Baseball Player
frfatEn B 9 umf
A, THIES (89 W) _
c. dwdiw e D. wmfe
Choose the correct answe fmn'\theopﬁomgl b n;?ét-' A
A g i 4 9 wERENe:
(1 B,CAD BA,CD @) D,Bm,g,
If a research projectis set up so that everybody in the popula on
being included i m sample, the research involves:
(1) quota g () Judgemental-.aa.m"
(3) pmbabﬂxty an plmg (4) convenience sam
afe feelt 3 TSI <l 6 TR S
1 =1 F9H a0 7, T gy # fafeq %
(1) FRTY A
(3). W e
What is the full form of POPs ?

(1) Persistent Organic Pollutants E ; I‘f@tent Oxygenqted Pollutants
(3) Polycyclic Organic Pollutants = (4 Wnensed Organic Pollutants
9 30§ (POPs) YW T FRMNE? L %z

(1) iz St N @ SR Wegde
(3), - dfeiramfad S N @ eSS

W S

Match List - I with List - IL,
List - I List - IT
(Abbreviation) ~_ (Meaning) =
A. etal, [ :lhe sax:;e placg
B. I, and othe
o i?.feq %ll. befor&
D. ibid, IV, comp@rgy
qEl-1 5 @g gat-11 & fiem Hife (M
i1 qelt-
(W ®9) (s
A. etal, 1.
B. ante., 11.
- of, 111
D. ibid, v, ge
Choose the correct answer from the op
i faw mu famedi # | Wl I A

(1) A-, B-I, C-INI, D-IV
(3) A-II, B-IV, C-I, D-ll
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37.

38.

391

T

‘Q’lﬁch of the following statem
i }r/alidity can never appj are true ?
' he concept of truth ¢ any ging iti
e an ingle proposition by its
= Proposm_ons by mems'&lvepply to single propositi(m);.1 ?lf'
A Proposition cannot be y, 8 Can be valid but not invalid
Choose the most appropriae d by itself though it can be irvali
(1) D only 2) iﬂnswu from the dptions given‘{)zllld on it own-
: o ow ;
frfefaa d 9 s O %";d Bonly  (3) yBandConly (4 Band p only

Ao A o R R - ¢ ™
; T W T
d “mﬁmmwwa%ﬁm%
D. uﬁaﬁm@aﬁjﬁgﬁﬁﬁﬁﬂﬁ@m%l
e e T fawedi § ¥ ged o W@ﬁfﬁ?@ﬁwm%u

L
@ = 2) HEAASB (3) FAABINC (4) 3o B AR D

\(?)uch Noi ;l:]ea f;)]low%ng statement is correct ?
ya syllogism has three propositions.
(2) Nyaya syllogism has five terms.
(3) Nyaya syllogism has five propositions.
(4) Nyaya syllogism has three propositions a‘ridthree terms.
Frefafer A R MA@ O
(1) = 2 A e e
(2) =E-aEEEd H uE T €
(3) - e S g e |
(4) T b b i L s R

Match List - I with List - 1I.

List - I List - II
(Ancient Treatises) (Author)
A. Lilavati I. Chanakya
B. Yoga-Sutras [I, Gautam
@ Nyaya - Sutras 11, Patanjali
D. Arth ;,5]1 astra [V, Bhaskaracharya
-1 3 =g get-11 firerA AT
Heit-1 i~ 11
(wrei 49) (e )
A. e [ e
B. Ar-97 i1, i
Cc. =E-9A DI S
p, e [V, vERyEd
Choose the correct answer from the options given below :
ﬁ%ﬁqwﬁmﬁﬁﬁﬁnﬁtwwmﬁm:
(1) AV, BIIL C-IL, D (2) AL B—iV&ffi“f D-]
@) A1V, B-11, C-1, D-II 4) A, BIL &Y Dy

13
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40, Which of the following statements is logically equivaleny o
feline” 7

. Jines are horses, 2 OTSes ara

tl; I:ﬁ ::(l\::i‘lmtwmes ag?;unea. 54; All ng '

um Wi w fq™ "ﬂf tl" _

fpfiafi A & 9 T ey &Y A I wA ¥ aaged

(1) ad v forare e o (@) (2) ot =

(3) i m—ﬁm ‘l '\) (4) w ﬂt" EE]
41.  Which of the following is the @onal Coordinator of SWAY A

graduation education ?

(1) Al India Council for Techniéal Education (AICTE)
(2)  National Institute of Technical Teachers Training and Resea
(3)  National Council of Educational Research and Training (NCER
(4)  University Grants Commission (UGQ)
mwmm-maam-mmagmwmm 7
L ) mmm-mtma(wﬁma@

?) uE T EE-sfe v Wy g (T % & & | am)

(3) wei fir v vE i e (T it 3 oK @)

'l (4) TovEfaee sRm s (gish @)

-
42. Match List - I with List - II. % n \
List -1 (D List - II
(Digital Initiative) (Purpose) ]
A.  Shodh Sindhu m Hosts synopsis of research topics in Indian Universities
B.  Shodh Gangotri . Free/Libre and open source software for Education
C.  Shodh Shuddhi HI.  Provides access to e-resources to Universities and Colleges
D. FOSSEE V.

Plagiarism checking initiative aimed to ensure orginality
in academic writings )

-1 % W4 GeR-11 1 foreqry FoTC ’i‘
Tt w11 i
(fefoee uem ) I (3w 4
A,y figy U W fervafeareri § Y- & S S e
B. ¥y Oh e ¥q i/ e W e e -
C. ¥iwyfg Ul

N I, é—mﬁmaﬁamzﬁqﬁwmﬁ"ﬁamﬁ
| { |

D. T &l ug ug § ¢ “:Ljv. STRICT el # wifcrene 1 giifeea S0 ® 55% & wifehas
g v UFYM FH ¥ v&

Choose the correct ansye; [‘mlgﬂct?e options given below :

oA o T foeit & & iy vy e o

(1) A-IV, B-llL, C-11, D) (2)  A-lll, B-I, C-IV, D-II

(3) A-L B-II, C-II, D-v (4) AL B-IV, C-II, D=

| _—
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43. Arrange the following fractiong ;

~

ﬁ‘?ﬁiﬁaﬁaﬁ%aﬁlﬁ,

6 N
A. 7 B.
Choose the correct answer.

i ferret # ¥ W
1 ABCD

44, Which technology fi
(1) Telegraph

45. Arrange the diff_i T _
er re]ect&?df .:fﬂm[
A F’

< pe i :‘-'-"_F'Nr. LT \-__L
now B

@Hlf"ﬂi 10V

= ﬁqmﬁmﬁ@ruﬂwwﬂm-;.;f? ' -
0 sipe Be poHEP OYBQUDEE ¢ BPES v
, _; ; (E}
R |
ead the following passage and answer jﬁdhuegyﬁa (46 - %0 | . .
ort, jabout 8 ent of the world populaﬁéﬂ ses

According to @ World Health Organization repOrt, A

traditional medicine systems !
medicine base, with each 8Y5
and practices that align With th
systems in India include Ayurveda, Yoga,
which is knowp, as Ayush. All these systems WEre

much before the advent of modern health science.
In many countries of the world, medical plura]_};;n {s the norm and traditional m S

the surest m hieve total healthcare cOVerage: fior the world population usin
to achieve g acce
and €C0n0n§§$y.(f)easlble methods. No system tu?f %@muﬁ :zglosfmglt;-hmdedly admf
concer roaCh incorporating (the pos each can surely ben
ns, bl_l[ an mtegl‘atlve aPp le]_duahSEd ap Oa"ﬁ h is th@ h.ademark o tradlu eﬁt,

The h
olistic pahent-cente rship to design O

enables the _physician partne
to achieve ﬂ}ian nthzs ypot ntial for well-being. This.A v
e hig brought the systems O the fore)(The ;dflivax%e activities rangin

traditional medicine

of prophylaczclgie g alth‘?:;t giﬁ;ﬁf:g:nuc L
Ayush syster, to the P public of the Host Country £
systems. This has enabled the sigmin = CTM) at Jamnagar. 8
Centre for Traditio onal Me edicine (

in some or the other way. India Thas a distinctive and unique tra
ient p‘h]losophy, medicinal knqwledge, percep

tem having its own anci
e regional cultures, traditions s and beliefs. The traditional me
Naturopathy, Unani, Siddha, Sowa Rigpa and Homeo

formulated, practised and perfected in a conﬁl '

15
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N At T e a1kl remeon st '
3T RS %9 ) e fer a8 e e M 35
e Weft w3 s el e RufiE faferen &
ST ST R AR 6 <R HIwT T 3 ferg s ey
"iﬁwﬁﬁmﬁnﬁmﬁm%mtﬁ%ﬁﬁwmﬁ :
| Wﬁwﬁ"ﬁﬁvﬁmﬁm%ﬁfﬁqéﬁmhﬁmm .

o) ®0) E A
In mz

any countries of the world, medical plurism is the nofm Because :

(1)  Traditional systems of medicine are useless, do
2) Traditionral systems of medicine befool the public. — ) |
(3) An mtgglrghve approach incorporating the positives of each system of medicine can in no |
way benefit mankind, | |

" . X RUTR -
No single system of medicine can single-handedly address all health concems.

90

@)
@)

fefereen %1 1 T sy sl e e R o T wdl &

16
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47. Which of the following fac "#..!.f".;_-u,‘.qj;gl:l o trrdltional Tndlar  medief

49,

50.

A Bach system is Unique, |
i o ‘*'ii‘l' Yoga, Unani, Siddha, Sowa &

~ Modern Health Scle ne TRy S0Wa Rigy
U Each system has an egge
Choose the most appropriate
(1) A, Band D only (2)
mmm

(g

B. m m' F' I ’ m W’ % & .’I‘i_
C. m Al ir WWts%'m g ll.mﬂjqﬁ.'- i ‘
D. wew vgfl Hlaea: e i 4 ,}, -4
19 ferw o el H A AR IR I B T HfA B,
(1) #a@AB#D () FA@BIRC (@) FAC (4) 35 B, C SN wx-'
H e T rin"! <

rt the percentag of the world popu
the other is : '

About 100%  (4) About80% _
it ferelt ot w9 H R fafwea Yaid B

According to a'WA orld Health Orga.nizaﬁ !
uses traditional medicine systems in some W

(1) About 20% (2) About 50%
fava @ we i % ergan fovd S

g Ha %7 s . ’,I-d N
(1) @ma 20% (2) @ 50% ' ' mm_m 100%  (4) T 80% 3
i .

The Global centre for Traditional M q‘e has beenes l . M |

(1) World Health OTganiflﬂﬁQ}? P ‘, ) ’Iaqmagar 7 EEr

(3) New Delhi g&) Huidwu .

i fafean iy Afen 7% e A 5o I — P

(1) v e i o' il N

(3) 7 faweh (4).) g A
(N |

Choose the appropriate title for the pasaaEb..J

(1)  Allopathy (C(a)  Holistie Healthcare

(3) Ayurveda OOO(4) Homeopathy )

mnmmwl _{l-l iy n,n'l

(1) it (2) u' 2 e
(4) et i

(3) @mgHe

v

7
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PAPER - || (,GDMPUTER’ SCIENCE ANy 4y

51. Lower-triangular sparne matrix is one ¥

yyin &

‘ "'@f” e the con'ect aﬁswer from the options given below :
. () ACDB ' D,ACD m CBAD

B53% Whmh of the followmgs are White box Testing ?

A. . Path Testmg B.  Loop ng
R * Regression Testing {"“Jﬁjb Non fufidtional Testing
Choose the correct answer from the optlons given bélow i
- () AandBOnly W » B and &\@F\ly
, ) Cand D Only (4)

N
54. The techniques used to handle the phantom problem are -
A.  Time stamping B.  Index locking ¥ 4 l
C. Predicate locking D. Exééuﬁon 'mdeking
Choose the correct answer from the options given below

(1) Aand B Only (2) Band COnly
¢ (3) AandD Only 4) Cand R%\‘y
@)
55.  Which of the followings are type of interface in an AlTMinetwork ? | ‘
A. user-to-user B.  user-to-netwhik) (€ network-to-network
'D. host-to-network o B, user-t o-hoatm :

1008€ the correct answer from the options given be
(2) BandC Only
| (4) DandEOnIy

18
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56. Arrange the following in Corpggt
A.§ Programming Statemeny i
0('1.; Memory allocatiO' D, Ty
E.  Memory deallocatio v ypte e
G\éose the correct anSwep § on %wﬂ 18V

M ABCDE @ ABDCE
R4 e -

57. Match List - I ,"! ist - II.
the Listed-l algon ms,

List - 1 ;
A :

Divide-and-conquer based algorithms

By Seoll 17 e G bt A

B ¥ * qdi
B. Find maxim

G MergeSO!

D.

Fast Matrix Multiplication ] :
Choose the co@ct answer from the ‘ol;‘ﬁo :
(1) A B, G, D-IV

(3) A, BV, G, D-I

58. Match List-I with List-II :

List - T - |

A. Channelization protocol .~ = L AL@HA=="ug= '2" j
B. Bit-oriented protocol : E‘H#a  TDMA ol : Uﬁ.

C. Random-access protocol \ @“ Reservation " | B
i - . - 7 HDL Lol i i A
D. Controlled-access protocol I\ . il P

Choose the correct answer from the options given below
(1) A-I, B, C-IV, D-IT s (2) AN BIV) C-I, D-II
(3) A1V, B, CII, D-I (4) AL BV, €L DI

@ An IPv4 packet has arrived with the first few hex%mﬂl digits as shown belo M
hops can this packet travel before being dropped ? The-data belong to what upper

(5400001800100110040601......‘)16‘ ik
(1) 01 hOPS, TGP (2) 02 'QPB ‘m-
(3) 03 hops, ICMP 4 hops, U‘ |
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60, Which of the (OHowlng tu the Markup language ?
A, HIML B XMl P/ M,
Choose the correet anaway from the optlo ven below ;
(1) B,C D Only , ( , €, D Only
@ A, C D, Only 0 (4014 B, C Only

61, Which of the followins control prnblam ﬁﬂ not exist, wh on pr

during nteraction ? (0]
(1)  Mutual exclusion (2 Data coherence
(®) Starvation v (@) Deadlock

1 Ty sl
| Arrange the following p;:aﬂx expressions based on their values in increasi g ordaf;:
A, +-*2/s432" 4 B. T-#33%425 |
C + ‘Tama/s-m D, #43+813+113

Choose the correct answm: from the optloﬁ;@ven below :

1) ABCD (2 BACD(&%(B),D,C/;B,A 4 €D AB

63.  Match List-l with List-1] : ‘ % ’
List - 1 Li,"l;;oll
Line coding scheme B idth (average)
A. NRZL I B=N/4
B. 2PBIQ . B=N/8
C. 4.D-PAM 5 4 JN__B=N/3
D, MLIB =+ IV, B=N/2

Choose the correct answer from the options gwen below ;

(1) A, Bel, C-1V, D1 (HIOAIV, B-11, C-1, D-I11
s B) ALV, B, Co1I, D11 (d') ), B-1V, C-11, D-I
' | ||
64, The instructions ! ‘, I
. m l"l»' A B 0

- ADD Ry, C, D (

)

(2) 2. Address instructions
(4) RISC instructions

20

(% CamScanner
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B
———

(1f.h. {_(x1, 0-3)_, (xz, 0-7): :'3 "l.\. f‘.l‘;\

0) ‘{(xjos) (xp 07), (R, >

(4) Reproduction tc -

67. Multiple Inheritance is permitted directly in.....

A C++ YOG B v avadiqa f:ﬂ‘._ v
C. Python | : m + D.  VB.NET

E. BASIC (@3 B A

Choose the most »prnpnate ax(sx!ar from the_@p ons g1ven

(2) A%COI\I (6) BandD'_"
o 1114

68. The I/O methods in which meriory ad&ri!” ses % 1/0 addresses are distinct, is called :
A. Isolated I/O ' B. MemoryéMapped 5?/0
G Strobe Control Da Handshakmg—

. . iy | T 1
E.  Interrupt )b! b A

Choose the mostiypzopmte answer from the oPtaons gif.eﬁ
(1) A, BOnly () C P@nly o(3 C,EOnly (4) BE%
& |
69. Which of the following is the fuingtion of the semantic analysis phase of compilation ;
(1) Type conversion N (2) Tokenization Preeems

v (3) Loop optimization g ®(4) Data flow Analysis

70. IP is responsible for communication while TCP jg *esponsible for
communication.

.!r (1) Node-to-node, Host-to-host  #(2) Pmtﬂ' » Host-to-hogy
(3) Socket-to-sockel, Host-to-node  (4) Host-to-Host OCess_ho_p .

2



https://v3.camscanner.com/user/download

71.  The Boolean expression for the following would be :
F(A, B, C)=3(0, 2, 6) :
d(A, B, C)=2(1, 3, 5)

(1) AC+BC | (2) B+AC @)

a hit ratio of 0.9, then average access time would be : » pu.
(d@) 3

(1) 200 ns & 190 ns (3) 210ms)
o

73.  Services provided by point-to-point protocol (PPP): MM ]

A. frame format B. establishment of the lir
C. flow control D. sequence numbering
E. authentication , e b | b

Choose the correct answer from the options given below :

(1) A, Band E Only %(2) A, Cand D Only

(3) D,E and B Only () B, CandDOnly
A O

74. In windows scheduling, which of the following optior[r}s:apnect ?

(1) 4 non-real-time priorities - (2) 8 non-re' I~time priorities

\.‘
» (3) 12 non-real-time priorities - (4) 16 nonl-r:

75.  Which of the following is/are true in case of tree locking ?

A. It ensures shorter waiting times.
« B. It ensures freedom from deadlock.
C.  Transaction can lock data items earlier.
D. It{doss not ensure greater amount of concurrency. )
Choose the correct answer from the options given belbw -

P
(1) AandBOnly (2) CandDOnly (3) Ba;l%a]st Only o(4) A and D Only

n ,:.-l Y

L _ o LE)
A least integer n such that f(x) is O(x™) for each of ﬂhé%fgllowing functions. Arrange following

according to the value of n in increasing order :

|
A. f(x)=32>+(log x)* B.  f(x)=("FR+1)/(3+1)
- [ =+ 41)/ (2 +1) D.  f(x)=(x2+5logx)/(x2+1)
Choose the correct answer from the options given below : (i
(I D,C. AB (2 D,C B A 3) B,CAD 4 BACD (&)
22
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1 T
3-1, LJ.H,/

D-IV 4) 1AL E )
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81. For the given tWo machines which of the following is correet »

1) both Machines are DFAs  (2) both are n
() ’bgig\ ‘are equivalent Machines  (4)

cannot be determined

(nmmwmwm m«wmwmww
@) {(x, 07), (xy 03), (x5, 06)} w/{(gcl 0.21), (5300-28), (%, 0.12)

@)
Regarding the subroutines, see the followmg sequence of I{as*k'is to be performed
A. Turn on the interrupt facility on. : r[[?:b}
B.  Service the device whose flag is set. ' (@0
C. Save the contents of proéessor registers. | :j*‘
D.  Check which flag is set.
A E.  Restore the contents of processor registers;

Choose the eorrect answer from the options given below :
() ADCBE (2 DABCE ¢3 CDBEA (4 BDACGCE

Q0

f P.“‘

Arrange the following simple graphs based on number of‘pgjanmng tree they have :
« A. K; [Complete Graph with 3 nodes]

I - @ K, [Complete Graph with 4 nodes] { ::2
K, 2 (Complete bipartite graph of the 2 nodes in each'partition) 3
G (Cycle graph of 5 nodes) O
mct answer from the options given below :
el il p,(2) A,C B D (3) A CD,B (4)

b

(% CamScanner
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mtax tree

e S = - i i B R SR, B
(Choose the ¢ answer from the

- 4o+
A
e "y |
m {
8y
-y
M i
\ N
\

0

L
§
=

&
-
(=}
£

T

B

@
5

~

¥

=
3>
|

b E
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A. Query optlmizer r ' p
C. Scanning passing.and vaﬂtiaﬂng

. Quah Assuranc 1 ]
rg =) (ol Hs.-l}-[ v g Hﬁ

glven belew -

| 4 ( Ty T . '..'.’ 2 ik I " E.y

:H‘V Y i1 3 - - Ih = I "
’. C"I; D-IT WF‘LTL’ e

AV, B, CL, DT
ALV, B, C-II, DI

, . B ,
For making a memory of size 2048 x 1Sir chips of size 128)G4it_iftes, the number ¢

@ 16 () 80 e s .
Ll = U 7S
of wmgs are mutolorgy PR 'N
= folix o ‘
(py | B po(par) s
C. ~p-(p-r) D, (p/\r)—)(p—)r) ,
o % ¥

u J oose the correct answer from the options glven

‘(1) A BOnly (2) A, B, COnly S)Z@;ﬁ DOnly 4) CDEOny

fgllgwings are sequential circuit ? (Q
B, Multiplexet ) @
E. Adder ()

he options given below :

(3) C EOnly
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. ¢5. Match List-I with List-II &

List - I
A. Union
B. Function
C.  Interactive Environment
D. Output device =
Choose the correct answer

(1) A, BI.
B) ALV, B-nl, c, D-I

8.) What is the total delay (Iatency) for afr a2
20 routers, each having a quewng e link i’%qn
5000 km. The speed of light i

( 1.691726 5- Q@

1) 0.624050 s-
) | 3

length four ur is generated at random. Whal s P
g en that first bit is 0 ? '

consecutive 0's §IVe" 5 3

)
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(*2) . Left factoring -

\ .‘. -4
100. Shift-Reduce conflicts are resolved by :
(1) Left recurssion = i1 I

II'

101. Back propagation E?@léﬁﬁﬁng_rmqﬁe'mt’adj@
weight changes: ; ’

«(1) Forward from sour
(2 ,_
(3) Forward from source
4) Backward from sink to hid

X U
A. DRAM B. SRAM : - CPURegisters
Choose the correct answer from the options given below :

he followin: g statements is/are false ?
A. A user can assi ign privileges

b. A user can assign privil eges to an

attack. [y L LR

bo th are

' d undéra’gbhcaténﬁtion operatio.n M” '“ .
closed under intersection Operation \
: Dsgd ?n_lder complementation operatioh)
seditinder Keen star operation. | €)'+
' ; | ._,_' .,_'Fll_j:, f{ ;

28
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105. The inﬂh'llcuon LD ADR )\ ‘4‘” 'l'”li equivalmt w A r 1\41 ADR
(1) Direct Addresaing Mode i
(3) Index ¢ Addressing Mo, ;

106. The least values of a signed and 1 ¢ :
(1) 0,128

g 8 bits, WO d be.....
I'i') .-C-"i“}i by

: _‘ ) ! nF
107 Arrange éa g order, on the basis of their cardinali ty
: b - L, : . [ ﬂ i—-‘

0

JI i

J : yURTes lh‘—

l'"I-I"’) ’H m
} A 3 tﬂ N
| ®

k

¢ c

3 (3) @t i ‘!"‘3':"\!& ﬂ

@
A.
C. 3nim (n2+m2—5)

3n3m (m+n=4An-m=1)
er f}- '1a?'
les ofArtificial Intelligence (A in the order of mcreasing om

109. Arrange the following examp
A. Spam email detection using

B.  Handwritten digit recognitiq"
C. Image classification using c@luh

D. Autonomous driving T2

based systemns uy
g shallow neural networks, |

Choose the
(1) A BCP
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r{I

110. Match List - T with List - pp. sy Syt
List - 1 List - I1 : g
A. Complement BT dder i
B. Ex-OR II. Instruction dECOdmgo
C. Accumulator II. Negative number tat;
D. Control Unit IV. Arithmetic and Lo
Choose the correct an.SWer from the options given bel
1) A-L B, CIIL D-Iv 'ﬁ) A-TII, B-
4(3) AL BL CIV, D11 4) AV, B-
111. The sequence of fields i is go IP datagram will be :
A. flags ' i opuons
D. Identificaion =~ E.  Service type
Choose the correct answer from ﬂ1e optlons givenibelow: : IEE HEE 5
(1) EDaiC. B ey wai w(( ) D Agr; / ('::i'rE,Igr,-I‘ Yoy oy AL

o B e ,_;

112

tlng~cod I avid 5o
- '::'-" on codes

0 (2) A-II, B.IV, @ D-III"' o AN
D (4t AT, BIIHC-IV, D21 | 5

@0
On
(@)
N
(@
(@60

-

@) 10 o

30
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114. Which of the following is t

(1) Cope with complexik
(3)  Detect side effect

115. Which of the followinge

'S a
DY AUT M

A. Ithas&lways

(2 ‘ (3) 2340 . (4) 2366
o P . :

. Arrange the steps of Mathemati&O/IOdehng ! . »

A.  Solution fitting with dafa (@)

B. Formulation Mathematic o

C. Solve Maﬂaemaﬁcally ol Y

D Repeat formulauon if it

E.  Interpretation results

Choose the correct answer

(1) B,C A,D/E 2 B

from the options given bel "
ADCE (B DAk

31
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120. The following code :
stmt — if expr then stmt else stmt
| if expr then stmt
suffers from : i o
(1) Ambiguity  (2) Left factoring ¢) Lekxe
" - Q)

121, Match List-I with ListII ; _\
] QTR TP

{

: rossover ‘
N -_— -]; I“ J"
. ""f;. !l&"}

Defect Removal efficiency

,f:l 4, -’Auange in appropriate order, the construction of a w automata :

A MinimumState DFA B,  Regular Expfedsion
C. NFA-¢ D.  Problem Sta%nt !

DFA
- 09

32
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125. The output of the following Ciq.
#include <stdio.h>
int main (void)

{

'ngmm is

int x, *p

x=30;

P=X;

print f (“%d”, P

|1} q}{‘
. {
) S

' all(of the segments of a process
2) - Hom: R
¢ (3)

28. The parameter Actual count is usedyin Genet

(1) Crossover

(3)  figure (2) is N point crossover of figure (:
@) figure (2) is uniform crossover
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| ,,“" N ,'K 3 . Ay l|| ’ R | ,\r »
130- FOI‘ the SOftWﬂl'e qu k&?{\, “rjhnce' wmch * 1 0A%% 125 are | '.L.E(__ﬁ: f,/
A. Execuﬁon Of :‘. ‘ d";:‘lk\\ Fy P ' t|_1||_| |I]. M. -} 3

\-U)

f.u’&p) (_,,ubf”y (4) D,k
Lo
| of integers, <Z, ¥> forms group if *fis:)
1 AREN() i{f@..@)\‘vﬂl (2) Ox(a, 'i')'::%1“~"
@ bsab @ *ab)=alt

f}_w@ LUL_/

. of recurrence relatioi
f\,f Tq‘t Ol n}‘\_—f IU“,OT\ML@L&J %I{Fm {ﬂ‘ﬁj are LJ.'gp C()]L '@EL recurren

edlcate-legl o

n:orM)‘togc stems

™

glve below :

ﬂ 3 im
O

mst - 11

I. C\R’ecursive Ijescent Parser |
II, LQuring Machine

(1) gran III.Br(shoamsky Normal Form
g problem IV, ™ Tinite Automate

e correct answer from the options given below :
' (2) A-I, B-I, C-II, D-IV
(4) AV, B, CI DI
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136. For line drawmg, which of

4 DDA algonthm
ﬁ'g

.‘I
T ol "‘“0 o

J 1‘,[.:’[" ". ‘
edded OS ? '

S 19

(2) respo ds m-, ma]_mten-u
3) des specia non-sequmhai«‘, iles.

A. , ‘

D. Page ,ta]:‘)le E7)) Page middle directory

Choose the correct answer from thmons given below : _' o
2) ACED,B : ;

(1) B, A Dr El u‘) ( ) .,7- X ! : wﬂ;r‘

) Dc%sa oH@ CADEB. -

40, If f(n)= Sf(n /Q)-I-S and f(1)=7 is a recurrence relation w‘lﬁi’éﬁK is posiﬁv&m :

(1) 5K (31/4)—3/4 (2) 5%@/4)
(3) 2K (31/4)—3/4 (4) 2% (2_9/4)-
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Answer the following 5 questions based on the passage

A iﬁ@iﬂ_@{'«)jﬂ1}‘):{62\5;‘\?:\\*&?' ‘WO type of cloth say A'and B. Three

)
R T L by L ep-y | N et A A
wool, E;l;(:?@}_'ﬂ\‘a‘w.@ﬂtlu.&l blue woopl, [ ne unit lenigth of type A ci ) var
y NP UL P ) ” /
reen wool. One unit length of type B cloth need§8 yards of o
31y by 1 Tk fiemt hac BB T 3 CAar
blue wool. The firm has only a st ¢ of 8 vards'of ted wool, 10 yar
ncome ol taimmed from one unit lengrr
\ [:c: 1 [
for
2 ) 100
Or S ulate for

.8 unit (2) 24unit L&) (3) 28 unit /\(L)’\ 3.0 unit

ATl IAT T o w17 T o o gt N R A S e R e ey L
ow l-u,‘d“(‘,:l“_i_’ aj “f""‘i:"fuhmmﬂ'[ﬂwt'(ﬂIa"h'-_‘fdli&t_'?lql.rg’u}“\‘ij'.,'[':w,;'y,w 3

- oY (2) 3x+2y+2z
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Answer the following 5 qy,

A company is implementing .
database contains tables for cug ;
place multiple orders and eagh qrq
specific sales representativesy
in tracking sales and cus Ome

146. Whid!?s_QL query 1€

(1) Select CO
(2) Select COUNT} Y
(4) Select COly (DISTNCTmstonm.Jd)Asm customers from customers;

| . \ .’

147. Which of the folloy mgtablesmlikel fohaveaforelgnkgy
system implemented by the company ? /

o (1) Customers 2) %ts B ey Prodycts

@) Salest "';‘es |

\

‘ o0,
148. Based on the passe sage, which of the following smenmms true ?
= ) &
(1) Each custome’r can place orily one order \ i £,

! ("
(2}~ Each sales representative(can manage nuﬂﬁple customer“ ccounts. "
(3) Each order can be assomated with only one pr,, 1 -
(4) The database does not ihélude a table for products. \ v
g
=S
149. Which SQL query retrieves the tol:al nu{nber of orders placedby a specific customer ?

' (1) Select COUNT (*) As total orders from orders Wh?;ig, " id = [Customer._ID]; |
(2) Select COUN'I‘ (order_id) As total.orders from orders where customer 1d = [Customer m ;;f

)/Select COUNT (DISTINET ‘prder_id) As total_orders from orders Where |

customer_id = [Customt;;r afD], -
' (4) Select SUM (order_Id) As tptal orders from orders whe1;e customer_id = [Customer _m n

N S
b twe th “ u
150 ) Which of the following besLd’ ;.crz];:s ;hzerelgtt;?ghlp etween the orders table
#Customers” table in the company’s tabase sy 5 _
,,,,, 5 3 Mah 2 e 4 y » % ._r"jl" - -
(1) One-to-One (2) /Onesto Many (3)e }: to-One  ( A Many-to-Many
4 y v,

)
/
{

-000-
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